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Q1

Q2

GENERAL AWARENESS

In April 2022, the Government of Q1

Gujarat in collaboration with the
Ministry of Culture organised a five-
day cultural fair named Madhavpur
Mela to celebrate the sacred union of
which deities?

(A) Krishna and Rukmini

(B) Shiva and Parvati

(C) Vishnu and Lakshmi

(D) Brahma and Saraswati

Which organisation signed a Q2

tripartite  MoU with SBI and
National Culture Fund for the
Development of Atmanirbhar Bharat
Centre for Design at Red Fort, Delhi,
in February 20227

(A) Indira Gandhi National Centre
for the Arts

(B) Indian National Trust for Art
and Cultural Heritage

(C) India Foundation for the Arts

(D) Centre for Cultural Resources

and Training

WUF 2022 39, IAI3 AIad B
Hignmagd H3dS & AldWd 7%
HURYd N&T aTH Ya-3a Afrarda
NS fqg3 2T 2 ufe3a fise
Q HATEE Bel wmidfr3 ofi3m

(A) fqHs 73 gaHSt

(B) fHE 3 yrgest

(C) fomd W3 SamH

(D) YHIH 3 HIA<S!

faadt FrEr & ga=dt 2022 <9 B'%

fas, ieat fed »aHfedsg 3193 Hed

29 fsadls ® feam =& sei »3

AHOS I59d 23 © o8 i f3a- 0

AHS 3T 3T AR

(A) fdegr qitt gHedt 98T ded
(Indira Gandhi National Centre
for the Arts)

(B) fESis BHES THC 2d Mde
W3 IBIIZ JdeA (Indian

National Trust for Art and
Cultural Heritage)
(C) Tt TE3HE B9 T MTdcH
(India Foundation for the Arts)
(D) Wed 2d IBYIS fararn »3
2f&d1 (Centre for Cultural
Resources and Training)
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Q3

Q4

In May 2022, India's boxer Nikhat Q3

Zareen created history by winning a
gold medal in which category at the
IBA  Women's World Boxing
Championships?

(A) 46 kg flyweight category

(B) 52 kg flyweight category

(C) 42 kg flyweight category

(D) 55 kg flyweight category

How many gold medals did India Q4

win in the Archery Asia Cup 2022
Stage 2 campaign held in
Sulaymaniyah, Irag, in May 20227
(A) Six

(B) Eight

(C) Seven

(D) Four

HeEt 2022 4, 793 € HagH f&u3
s & IBA Higw feme g
f3 9 fef3am afgnm

(A) 46 kg SBTERE BT

(B) 52 kg e8mElec I

(C) 42 kg SBTElec I

(D) 55 kg BT BT

HeEt 2022 g, fegra @ FEHTEM
fEg w3 Stanierst xtn ofu 2022
ygmi 2 HidH i[9 9193 3 fdd A 3am
IGEY

(A) B

(B)

C) w3

(D) ¥4
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Q5

Q6

In March 2022, the Reserve Bank of Q5

India along with the National
Payment Corporation of India
launched a 24-hour information
hotline for digital payment of goods
and services. What is the name of
this service?

(A) DigiCASHe

(B) DigiKwik

(C) DigiSaathi

(D) DigiMitra

In  April 2022, which country Q6

launched the Trade and Technology
Council with European Commission

(EV) in 2022 after USA?
(A) India

(B) China

(C) Australia

(D) New Zealand

Hgg 2022 <9, 3931 fard= ¥ 3
SHES WS FgUdns »e feghr 2
&% s d THgM 3 A ¥
f3Hic® ga=3s Bt fa 24U

HIEddl JeBTEls A 7d oSt fan
AT & Al J?

(A) f3HtaH (DigiCASHe)

(B) f3rilafed (DigiKwik)

(C) Tf3+itATdt (DigiSaathi)

(D) Tf3ifH34 (DigiMitra)

WU 2022 <1, fTn TR B US S gmie
2022 fe9 ygdfuws afHas (EU) ®
&% U W3 316 e T3
CIEl

(A) I3

(B) di&s

(C)  WAHEP

D) fsgHids
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Q7

Q8

Which content creator became
India's  first United Nations
Development Program (UNDP)

youth climate champion, in January
20227

(A) Prajakta Koli

(B) Bhuvan Bam

(C) Kusha Kapila

(D) Ashish Chanchlani

What is the name of the rocket

launched in October 2021, by Korea

Space Launch Vehicle II, its first
domestically  developed  space
rocket?

(A) Nuri

(B) Jugnu

(C) Pratham

(D)  Mir

Q7

Q8

Aoedt 2022 39, fagzg wAHad

[GIHTIT 9793 T UfgsT AWd3 1T
feq™ Ydid™i (UNDP) U8 J&TEe
s gfenm

(A)  UIHI3T IS

(B) Z<ad™

(C) FAIUS

(D) THIH 9OSTAl

WI39d 2021 <9 Ufa® At 39 3
feqr3, Jdhm AUA BY =TS I
AT B i3, AUYA I T & it
&7

(A) B

(B) ddig

(C) Y&H
(D) Hig

6132/BA



Q9

Supreme Court judgment in Ellora Q9
Paper Mills Ltd. vs. State of MP
(2022) 3 SCC 1 deals with:

(A) award of excess claims under
the Arbitration and
Conciliation Act, 1986

(B) remission of matter to
arbitrator under the
Arbitration and Conciliation
Act, 1986

(C) appointment of arbitrator
under the Arbitration and
Conciliation Act, 1986

(D) earlier arbitral tribunal having
lost its mandate cannot be
permitted to continue under
the Arbitration and

Conciliation Act, 1986

BT Yug iisa fBHfes o mindt

I (2022) fE9 BUTH e T SHET 3

scc 1 fer&s AefU3 J:

(A)

(B)

(©)

(D)

WIS, 1986 © Uls 1Y Teni
THIIS

HUAHEST W3 H&J MOfEeH

1986 ¥ 3J3 HUIHE3 § HHY
o yrret
HUTHEST M3 HSJ MUieEH

1986 ¥ 3J3 HUAHES i

fogast

YIS HITHES SAHTUIIE S
WIS goH I3 H, BHg
HUAHEST W3 HSJ MOfEEH
1986 ¥ 3fa3 At due
ferm3 &t fodt 7 Aa J

7132/BA



Q10

Q11

In which year did the Central Q10 fon W% feg dedt Hdad & QU

Government notify the Consumer
Protection (Jurisdiction of District
Commissions, State Commissions
and National Commission) Rules
under the Consumer Protection Act,
20197

(A) 2019

(B) 2020

(C) 2021

(D) 2022

A buried, watertight tank designated Q11

and constructed to receive and
partially treat raw domestic sanitary

wastewater is called

(A) rotten tank

(B) septic tank

(C) putrefying tank

(D) decaying tank

HIf wae, 2019 © wtts QU
HIEAT (ST IfHHET, I IfHHS
3 I IHTFST T wfTaTg ¥39)
fawi § wifugfes o3 Hi?

(A) 2019
(B) 2020
(C) 2021

(D) 2022

39 WIG feddr i uret § Yz 995
W3 wifHa gy <9 BUTd 995 <3
i feg ©d e Bt f3afes »13
feafi3 o3 7 It &9 & off fqar afe
J?

(A) e 3 (rotten tank)

(B) Hufed I (septic tank)

(©) fuGedtiefar < (putrefying

tank)

(D) f3af¥dr I (decaying tank)
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Q12 On 13 April, 1919, which of the Q12 3II3feT13»UW, 1919 3, I&! ffani
following incidents took place in & faa=t west It

India? :
(A) I
(A) Kakori Conspiracy

(B) Jallianwala Bagh Massacre (B) HISMITSET EQT T3ENMH
(C) Chauri-Chaura Incident (C) THAIT e
(D) Komagata Maru Incident (D) STHTIIST Hg WeT

Q13 Which Indian monument is Q13 fqJF IGF AHGR € WMdd Ft He

popularly known as ‘The Arc de WEEE?H?(The Arc de Triomphe of
Triomphe of the East’? the Easty @ M1 =3 lLﬁ'-\lJU 3

(A) Charminar (A) whiE

(B) Mysore Palace (B) ﬂBEIfI@’FI

(C) Khajuraho (C) YdAdW

(D) Golconda Fort (D) dJBIT T &

Q14 The Malayalam language is largely Q14 Hfgw®H g 23 39 <3 Jat fofami
spoken in which of the following &3 faag3 3938t ga ffg 95 gt O

Indian states?

(A) IS
(A) Kerala
(B) Tamil Nadu () -
(C) Karnataka (C) dare=
(D) Goa (D) g

9132/BA



Q15

Q16

Q17

Bombay House located in Mumbai is Q15
the headquarters of which of the

following companies?

(A) Tata Group

(B) Reliance Industries

(C) State Bank of India

(D) Godrej

Under which of the following Q16

policies is India focusing to become

a globally competitive

manufacturing hub?

(A) Stand Up India

(B) Make in India

(C) Swabhiman

(D) Pradhan  Mantri  Mudra
Yojana

The term ‘second generation Q17

reforms’ is often heard in India in the

context of:

(A) Agriculture reorganization

(B) Economic restructuring

(C) Skill development

(D) GST implementation

Hadt i g9 I8H (Bombay House)
J&T a3t fied fom duat e iy ©83d
&2

(A)
(B)
(©)
(D)

T §d nifg fEghr
CISGE|

333 Jo fol=nt fed fagdt a3t ©
3fg3 fere Jug 3 Yt faaHe
Jvd 96 B3 forrs defa3s ag faa
J?

(A)
(B)
(©)
(D)

na o g
ASTIHTS
YUTs H3dt Hed uHaT

3193 g gl Ui = gue’ wEw

fAR Hedg feg Afen AT 2
vt yad s
WIS Yad fegHe
Jad feam
CIRCE R RENES

(A)
(B)
(€)
(D)

10 [32/BA



Q18 Which of the following dances Q18 foHafEys fed faa3 a®™ T HS

derives its roots from Tamil Nadu? ITHBEZ I?
(A) Kuchipudi NEEGIEE]
(B) Bhuta Kata (B) I
(C) Bharatanatyam (C) II3&THH
(D)  Mohiniyattam (D) NfI&w3H
Q19 Match the columns. Q19 ITHBHI T NS AJ|
Terms of Chola administration BT YHAHS Tt 73t
A-  Nattar A-  dId
B-  Kammanacceri B- ATH&TIH!
C-  Nagarattars C- &IId=SdA
D-  Palliccanda D- U&s
Meaning of the terms HI3T T 0IH
1-  Dwelling area of the artisans 1- Srdigrgi e fse a3y
2-  Trading community that o, Tugg ITHTT 7 SOGH
belonged to the Nagaram =% A3 H
3-  Tax-free villages 3w Va3 fifs
4-  Landholding representatives 4 FFEHIAIIR &3 Jutsq
of an area called Nadu
yf3fea
(A) A-4,B-3,C-2,D-1 (A) A-4,B-3,C-2,D-1
(B) A-4,B-1,C-2,D-3 (B) A-4,B-1,C-2,D-3
(C) A-3,B-4,C-2,D-1 (C©) A-3,B-4,C-2,D-1
(D) A-2,B-3,C-4,D-1 (D) A-2,B-3,C-4,D-1

1132 /BA



Q20 Asia’s largest tribal festival, the Q20 b1 ¥ A3 3 @37 niifeet {38719,

Q21

Q22

Medharam Jathara is celebrated by
which Indian tribe?

(A)  Kurumba tribes

(B) Koyatribe

(C) Adiyan tribe

(D) Halakki VVokkaliga tribe

In which of the following cities was Q21

Google Map’s Street View services
launched in India in July 20227

(A) Ahmednagar

(B) Nagpur

(C) Chandigarh

(D) Kochi

With respect to the Indian army, Q22

what is ‘Nipun’?

(A) State-of-the-art high mobility
infantry protected vehicles

(B) New generation anti-

personnel mine

(C) Assault boats

(D) Hand held thermal imager

HUIH HEdEH far 393t I
DI HATET FiET J?

(A) I S

(B) QT S

(C) Mifeds JEIBT

(D) IS TN T

[a [a [al

Jot fa3 Afgat fed far Afgg feg

FBTE 2022 &7 393 2T JA® HUA
Adle e Aerei § 7d oi37 fapdT Hi?
(A) MfaHE&dd

(B) ®IYT

(C) dSNH

(D)

Iig3t 2 © AYy o9 foys' ot 7

(A) wE3oufsg €9 IEStHB
IS I & IS

(B) &<l Uit feddt f&H urs
(C) WA fqHdtn

(D) JY ef3 gaHE fenag

12 [32/BA



Q23

Q24

Q25

In field tests, which crop was firstto Q23
be genetically modified by
molecular biologists with the U.S.
Department of Agriculture in Urbana
to improve photosynthesis by
streamlining photorespiration and
increased plant growth by over 40
percent?

(A)
(B)
(©)
(D)

Where was the first State Financial Q24

Tobacco
Cotton
Potato

Tomato

Corporation opened in India?
(A)
(B)
©
(D)
As of 15 August 2022, how many Q25

Uttar Pradesh
Gujarat
Maharashtra

Punjab

wetlands were added to Ramsar Site
list to take the total to 757

(A) 11

(B) 12

(C) 13

(D) 14

w3 orc i3g, . © a8 niiefed
Hie fegfrat grar 7re 3 ufast faA

SHS § MTEAHA 3d 3 ARHIUS i3

& H QauraT feg it fegmar yams
AeHG & H9Td g9 Ufent € T8 & 40
YItH3 3 <U U Y HASHS <9
AU IJdIm?

(A)
(B)
(C) 3
(D)
9193 <9 ufg® g 3t feam foa
A fapur Hi?

(A) €33yEH

(B) dHI3

(©)
(D) YAs

HJ'dTH<d

15 WJIA3 2022 3d, IHAD ATEIE et
f3g folfent farat mtat & Afgm famr
H A 3 9% 75 3 fap

(A) 11

(B) 12

(C) 13

(D) 14

13 [32/BA



Q26

Q27

Q28

Which of the following is the 2021 Q26
winner of the UN Global Climate

Action Award: Climate Neutral

Now?

(A) Meta

(B) Google
(C) Microsoft
(D) Accenture

According to Article 19 of the Q27

Constitution of India, freedom of
and can be

speech expression

restricted on the grounds of:

(A) Dbusiness interest of the nation
(B) security of the state

(C) non-payment of taxes

(D) Dbreach of contract

According to Constitution of India, Q28
to safeguard public property and
abjure violence, is the of
every citizen of India.

(A)
(B)
©)
(D)

moral duty
ethical duty
fundamental duty

fundamental right

J&t Tttt fed faaa
JIVEE IETENE MTHES MIS 2021
T fer3T 3: aBEe fe8eas 718 2
(A) W

(B) JdIB

(C) HéigHee

(D) MIHTI

373 ¢ HISUE € M&ed 19 © gAY,
ITHS W3 9B < wira (freedom of

speech

HYd3 dHd

and  expression) &

g 3 YSTE3

T HT HIET |

JTHd ¥ U d {J3

g <t gt

(C) IR IT-FIETS

(D) SIIE™ €t GRWT
3d3 © HISU'® & MEH'Y, A3 HUS!
ot gt qgaT »i3 (AT § &% U,
CISEASIRE R SC U]

(A)
(B)
©)
(D)

(A)
(B)

14 |32/ BA



Q29

Q30

Q31

In which of the judgments did the Q29 HUJM ddc & fI HHZ HEU3 SHS

Supreme Court declare ‘Triple

Talaq’ as unconstitutional?

(A) Mohd. Ahmed Khan vs. Shah
Bano Begum, AIR 1985 SC
945

Shayara Bano vs. Union of
India, (2017) 9 SCC 1

Daniel Latifi vs. Union of
India, AIR 2001 SC 3958

Bai Tahira Vs. Ali Hussain,
AIR 1979 SC 362

The Protection of Children from
Offences Act, 2012, is
applicable to children:

(A)
(B)
(®)
(D)
Which of the following political

(B)

(©)

(D)

Sexual

below the age of 18 years
below the age of 19 years
below the age of 20 years

below the age of 21 years

parties was formed as a direct
consequence of the Punjab Land
Alienation Act?

(A)
(B)
©)
(D)

Anjuman-i-Punjab
Khalsa Dewan Society
National Unionist Party
Shiromani Akali Dal

Q30

Q31

g f3a v § J9-Afeusa W3

131

(A) HIHE wigHE UE 6™ HJ
g8 ¥dH, AIR 1985 SC 945

Hfegr 978 ¥&™ I3 HY,
(2017) 9 SCC 1

3aME B ga™ I93 Ay,
AIR 2001 SC 3958

et Ifag geH wiE T,
AIR 1979 SC 362

WIS, 2012 3 BIP I
JI

(A)
(B)

(B)

(©)

(D)

18 At 3 e §HJ & dfonff
19 At 3 e G & dfonff
(C) 207 S 3 U GHI T dfgm
(D) 21 AT 3ufe GHT < dfgnft
Js Tt (34 faadt Iaaifza urgdd
Uy 3 MBdTES Mae © i fie
a1 Je &g wret Hi

(A)
(B)
(©)
(D)

WS- UATE

HTEH dies et
SHGS YatfsHe Urddt
THIA I8 T8

1532/ BA



Q32  Which of these princely states was a Q32

Q33

Q34

part of PEPSU (the Patiala and East
Punjab States Union)?

(A) Jath

(B) Makran

(C) Baroda

(D) Jind

Which among the following poems Q33

was written by Pritam Singh Safir?
(A) Garaj Ton Footpath Teek
(B) Anik Bishthar

(C) Kach De Vastar

(D) Na Dhuppe Na Chaanve

The Takht-i-Akbari, where Akbar Q34

was  coronated Emperor  of
Hindustan, is located in:

(A) Bhatinda

(B) Kalanaur

(C) Cheema Kalan

(D) Phillaur

fegat fd faadt gaerat fonms Jug
Uferr@ w3 dae dAe "eeH
Ga®) T fJAT HP?

(A) #E

(B) HII&
(C) g3
(D) Hie

fHw Agta wraT (%t gret Ao
(A) dI9d 3 geurg i
(B) wifea farA3g

(C) 9T TH3d

(D) ®UIRER

Y3 BovEdt feg Afg3 3,
fig wiagd § fJer3s 2 geng <4
IrUH It A

(A) =&z

‘0

(B) TBEI

(C) dTH st
(D) fe&a

16 [32/BA



Q35 A combination of two joined beak Q35 T® »3 35 BEl & THI Thif gIert
flutes- for melody and drone, either Jenft g3t T AN, 71 31 fedfont 13

tied together or held together loosely A g e s s i 39 3233, fan
with the hand, while the player blows

fSd d BIIM31d W3 8 AHTE I
air continuously and simultaneously

&3¢ J, for 7w & ot Jfde I57

is called: )
. (A) HIai
(A) Sarangi
(B) Alghoza (B) i
(C) Bugchu (C) Hdrg/ddd
(D) Dilruba (D) fesger
Q36 Bhangra is usually performed with Q36 3dI3T ™ 3d <3 & I3 <t 77d Ha=t
the accompaniment of short songs =T A3 Hielﬁ,ﬁﬂésﬁmﬁ@ﬁ?
called: A) 9
(A) Mahia
. (B) JIud
(B) Gurbani
(C) Boliyan (C) dot
(D) Sadda (D) W

Q37 The Green Revolution was Q37 UdArg &g It i3t fqal Tad s

introduced in Punjab during which W o
decade? (A) 1950 € ¥Jd
(A) 1950s

(B) 1960 € ¥J
(B) 1960s
(C) 1970s (C) 1970 T =I=
(D) 1980s (D) 1980 € ¥Jd

17 |32/ BA



Q38 What is the official script of Punjab, Q38 UdTs, 3793 T wiftfq3 it fagdt 92

Q39

Q40

India?

(A)  Gurmukhi
(B) Shahmukhi
(C) Devanagari

(D) Brahmi

Who imposed national emergency in Q39
India in the year 1975?

(A) Rajiv Gandhi

(B) Sanjay Gandbhi

(C) Maneka Gandhi

(D) Indira Gandhi

Which of these districts in Punjab Q40
has the highest rate of population
growth according to the 2011
census?

(A) Mohali

(B) Faridkot

(C) Tarn Taran

(D) Kapurthala

(A) g
(B) HIHH
(C) <<&IIdt
(D) g

"8 1975 {9 993 €9 Imcd
MHIHA {TAS Saret H

(A) drte Jridt

(B) ¥d art

(C) W&o Jrtt

(D) f¥egrardt

Urrg @ fogat fafeut {39 faaz fagr

2011 & ASIIEST © MEHTT AGHEMT

TS GISHTITH R
(A) HIE

(B) <diTde

(C) 3J5395

(D) SYJEHT

18 [32/BA



Q41 The Constitution (73 Amendment) Q41 Hfeus (73 RU) wfufewH,1992 &
Act, 1992 had added a new part IX Hfeas o9 16 Miaad »3

consisting of 16 Articles and the

WMEHGM BT fiq &1 I1d1 IX HHS
Schedule to the

13T H
Constitution.

(A) A
(A) Fifth
(B) Sixth ® =
(C) Eighth (©) x5
(D) Eleventh (D)  faprat

Q42 The first meeting of the Constituent Q42 WHfeUsd HI' o Ug&t & <

Assembly was presided over by Dr. YUrsdit 3T AMGETET fHET ©TdT 1St

Sachidanand Sinha. Who among the It 71 Jat i3t e fang ame

following was later elected the fSg Hieursd A1 €1 yUTs gfan fapa
President of Constituent Assembly? Ho
(A) Jawaharlal Nehru (A) T TS B

(B) Dr. BR Ambedkar [B) I g nidEad

(C) Dr. Rajendra Prasad ©) 7 e

(D) Mahatma Gandhi (D) WIS T
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Q43 The Right to Property was removed Q43 TUdt ® wfuag § A% 1978 29

Q44

from the list of Fundamental Rights

by the Amendment Act of the

Constitution in the year 1978.

(A)

(B)

(©)

(D)

The

Amendment) Act, 2002 included
Right to Education in the list of
Fundamental Rights as part of the

Right to Freedom by adding:

(A)
(B)
(©)
(D)

42
44th
73rd

86th

Constitution

Article 16(4A)
Article 21
Article 21A

Article 31A

(Eighty-sixth Q44

Afeus < AU MiOfeTH T

Hig wiftearat <t gat 3 ger o3 famr

H

(A)

(B)

(©)

(D)

443
739

86%

Hfeus (fenr<t 7u) mfafewH, 2002

& T © wifgeng § Higa wifgargt

ol gdt fe9, 533937 © wifuarg = fdn

T 3I 3 HHS 13

(A)
(B)
(©)
(D)

MEeT 16(4A)
"Ee 21
MEed 21A
"EeT 31A
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Q45 The 10" Schedule of the Constitution Q45

Q46

of India lays down:

(A) validation of certain Acts and
Regulations

(B) provisions as to
disqualification on the ground
of defection

(C) powers, authority and
responsibilities of Panchayats

(D) powers, authority and
responsibilities of

municipalities, etc.

Which of the following Articles of
the Constitution of India provides
that there shall be a Council of
Ministers with the Prime Minister as
its head to aid and advise the
President, who shall exercise his/her
functions in accordance with such
advice?

(A)
(B)
©
(D)

Article 74 (1)
Article 73 (1)
Article 71 (1)
Article 72 (1)

Q46

393 ¢ Hieus & 108 »iggdl
fagud3 qa<t J:

(A) Y AUfeeH w3 FThaT
YHTES3
TE-gEE 2 WUTd 3 MUdETE
349 3 feeHg=

gzt T Jaghri, wiftarg
SIUTEAEl Ehoff TS,

(B)

(©)

(D)

Iig3 © Afeus 1 Jat fafawni fed

fqg3 wigee ffg Ygs 97 J fd

Yurs Hadt ® a8 Bq H3dt ufgme
It 7 3 IHegut & Aafes w3
ASJ T<dit w2 Qg wifadt AT
GHI Tt 0w STH FIan/Sdaft?
(A) MEEE 74 (1)

(B) MagE 73 (1)

(C) Mase 71 (1)

(D) ™&&E 72 (1)
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Q47 When a President is to be impeached Q47

Q48

for violation of the Constitution, the

charge shall be preferred by

(A)  Chief Justice of India
(B) Either House of Parliament
(C) Prime Minister

(D) Supreme Court of India

The parliament has the power to Q48

form a new State by separation of
territory from any State or by uniting
two or more States or parts of States
or by uniting any territory to a part of
any State under which of the
following  Articles  of  the
Constitution of India?

(A) Article 1

(B) Article 2

(C) Article3

(D) Article4

< IS 3 Hieus Tl GRuE T
oH Banfeny AT 9 3 fer 9n <
ERCIR] AT it Al I

(A) 333 % dig Anfen
(B) HATTfmdAes
(C) YU&H3dt

(D) 9d3 &t AISEY »ETH3

HAT & fan & 9 3 939 § 4 dJd
A w2 33y I /i I & gF Irar
gz A fan dgm e fan AfIR
g8 & 793l J1 feg Hadt 393 ©

Fieus 2 It fifanii (<9 faa3 nigee
SEIRER

(A) BTl

(B) &BT 2

(C) BT 3

(D) »&s< 4
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Q49 The Council of States consists of 250 Q49 g €t Ufgre feg 250 g I= TS,

Q50

members, of which members
are nominated by the President on
the basis of their excellence in

literature, science, art and social

service.

(A) 10
(B) 11
(C) 12
(D) 21

Which of the following Articles
provides that every High Court shall
have power throughout the territories
in relation to which it exercises
jurisdiction to issue writs for
enforcement of the Fundamental
Rights or for any other purpose?

(A)
(B)
©)

(D)

Article 226
Article 227
Article 228

Article 229

Q50

AT AT g3, fefaris, &1 w3 AHH
A {39 Bt < 8313 € wUd 3

HEBI3 BT HET I

(A) 10
(B) 11
©C) 12
(D) 21

Jat fifamt Q9 faga »igee Y©s

g 9 fa TJ@ €9
WEB3 S BT Afagni 9341 &9 "3
yny3 Jedit fig! € Hey fieg Gu Higa
el fde Ardt 996 ¥ MigdTg ¥3d ©
EGEEC G

(A) Eex 226

(B) a&s¥ 227

(C) wadex 228

(D) &ex 229
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QUANTITATIVE APTITUDE & NUMERICAL SKILLS
Q51 Which of the following fractions is Q51 J& &It fdat fed Ag 3 &<t 95

the smallest? IEGEiKE
A 5 A =
B) 5 B) =
© 2 (© 2
O O =

17

Q52 Find the lowest common multiple Q52 34, 45, W3 50 @1 A3 3 &< A JIcH

(L.C.M) of 34, 45, and 50. (L.C.M) U3T 3|
(A) 7650 (A) 7650
(B) 7850 (B) 7850
(C) 8400 (C) 8400
(D) 7200 (D) 7200

Q53 The least number which should be Q53 2014 feg fagat Az 3 &<t Hitmr 1

added to 2014 so that the sum is A< 3T H I3, 4, 543 6 3 Ydi 3at
exactly divisible by 3, 4, 5 and 6 is: g Jd HA:

(A) 33 (A) 33

(B) 27 (B) 27

(C) 26 (C) 26

(D) 31 (D) 31
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Q54 The smallest perfect square which is Q54 H3 3 &1 Yda <ddl faazd, fAAg 12,

divisible by each of 12, 18, 20 is 18, 20 A& ITdI ST A Ho(tfla'|
' (A) 1600
(A) 1600
(B) 900
(B) 900
© 400 (C) 400
(D) 1000 (D) 1000

Q55  Find the value of the question mark. Q55 YH& fdg € HS Y31 IJ|

25% of ? =4 x 16.5% of 1200 25% of ? = 4 x 16.5% of 1200
(A) 2828 (A) 2828
(B) 2908 (B) 2908
(C) 3168 (C) 3168
(D) 3298 (D) 3298

Q56 Which of the following numbers is Q56 J&t fastnt Aftwret fad faadt 4 &%

not divisible by 4? Yda 39 3 I 6t I?
(A) 225644 (A) 225644

(B) 48264 (B) 48264

(C) 188822 (C) 188822

(D) 144692 (D) 144692
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Q57  The price of petrol first rose by 12% Q57 Ud® ol oltH3 Ufg®t 120 <t w3 fag

and then fell by 12%. Find the net 129% WS JTet| Uead® St iH3 feg 943
change in the price of petrol. ELTiRIRIEUCE]

(A) Remains same (A) Sdtafd=ta

(B)  1.44% decrease (B) 1.44% <t ot

(C) 1.2% increase (C) 12% Tr<Ur

(D)  14% decrease (D) 14% <t o0t

Q58 A shopkeeper purchased 100 shirtsat Q58 f¥fa TaT&e™d & 100 aHiAT 1 20 Y3t
the rate of R20 per piece. 20 shirts IHIA <t w9 €3 ydietui| 20 it

were found defective. In order to

I YTt Iretnit| 20% T B Y3
Jd6 B, B YISt aHtmdied

make a gain of 20%, he must sell the

remaining shirts at the rate of

per shirt. 3 el Dl <9
(A) 325 (A) 325
B) 27 (B) 127
©) 30 (C) 230
(D) 235 (D) 335

Q59 Ifa:b=3:4andb :c=8:9 find Q59 #IJa:b=3:4M3b:c=8:937 3

a:b:c. a:b:cU3T I
(A) 6:8:9 (A) 6:8:9
(B) 1:3:7 (B) 1:3:7
(C) 3:8:16 (C) 3:8:16
(D) 3:5:7 (D) 3:5:7
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Q60 Two numbers are in the ratio 37:40. Q60 = Hftmiret 37:40 © WgU3 &9 I&|

Q61

Q62

If 7 is subtracted from each of them,
the new ratio becomes 67:73. Find
the smaller number.

(A) 74

(B) 60

Cc 171

(D) 44

How much time will it take for a sum
of %450 to yield 327 as interest at
1.5% per annum of simple interest?
(A)
(B)
€
(D)

ICICI offers 10% compound interest

4 years
2 years
5 years

3 years

per annum compounded half-yearly.
Mr Kumar deposited 33650 on 7"
February 2020 and another *3650 on
7" August 2020. Calculate the
interest he earned till 7" February
2021. Choose the option that is
closest to the exact answer.

(A) 439

(B) 556

(C) 458

(D) 549

Q61

Q62

94 Bai fed gaa fed 7 werfasrafe
J, 3 &<t migUT3 67:73 I AT JI Bl
HitpT U3T FJ |

(A) 74

(B) 60

(C) 71

(D) 44

3450 &t 9IH § 1.5% HSTET AUGS
form S formed 227 Y3 35 f<a
fof ST HHT &JIdm?

(A) 4TS

(B) 2WH

(C) 57

(D) 37 S

ICICI, ferdt 39 3 Je&T 3%
§3,10% fHHAd3 form & Ag& =g
& U &t I | T I & 7 gt
2020 & 3650 i dd<® M3 7
WITH3 2020 § 3650 Id 7i Ad<2|
7 @d<dt 2021 3 B ©AI IHE
forma i area ad| R fegsu g
FIA A 33T AS I B3 I

(A) 439

(B) 556

(C) 458

(D) 549
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Q63 Aand B can do a piece of work in9 Q63 A »3 B ffq oH § ped 9 feat »i3

Q64

Q65

days and 12 days respectively. They
work together for 3 days and then A
leaves. In how many days after that
will B complete the work alone?

(A)
(B)
©
(D)
A boy was riding a bicycle at the

7 days
3 days
4 days
5 days

speed of 20 kmph. How much time
would he have taken to cover 10 km?
(A)
(B)
(®)
(D)

The average of the monthly rainfalls

30 mins
35 mins
40 mins

45 mins

for January, February, March and
April was 22 cm and for February,
March, April and May it was 24 cm.
If the monthly rainfall in May was 20
cm, find the monthly rainfall in
January.

(A) 16cm

(B) 18cm

(C) 14cm

(D) 12cm

Q64

Q65

12 feast fe9 9d Aax I&1 BJ 3 fea
fedd oH Ide I& M3 fed A &3 Hie
J1 B BH 3 amiw fda feat feg fedw
oH & Yd' I

(A) 7fes

(B) 3f&®

(C) 4fgs

(D) 5fE&

89 H31 20 kmph & & 3 AESS
TS fgar /I 8AQ 10 km M & <9
folaT A1 Bfamm J<dm?

(A) 30fHe

(B) 35fHe

(C) 40fHe

(D) 45fHe

A6<dl, ed<dl, g9 »3 WMZ °
Hdtereg Hig & »A3 22 cm
gdedt, Mg, »IUs w3 Hel Bet feg
24 cm H| Hdd Hel fSg Hdtarera Hig
20 cm Hi, 31 A&<d fe9 Hdlarera Hig
YT qd|

(A) 16cm

(B) 18cm

(C) 1l4cm

(D) 12cm
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Q66

Q67

Q68

The mean of 12 observations is 18. If Q66
one more observation is included,

the new mean becomes 20. Find out

the 13th observation.

(A) 40

(B) 42

(C) 44

(D) 46

A brick is an example of a . Q67
(A) Cuboid

(B) Cube

(C) Cone

(D) Rectangle

If the radius of a circle is 7 cm, what Q68
will be the ratio of its area and its
circumference?

(A) 11:7

(B) 7:2

C 3:2

(D) 7:3

12 QU T HOHS 18 J1 Add B I9

YT § THS i3 AT J, 3t &

WO 20 I AT J1 13 P& T U

EGI
(A)
(B)
(©)
(D)

40
42
44
46

fiq fie fiq < Bvrads JI

(A)
(B)
(©)
(D)

U<

us

0

Hy

nfe3

Hdd 99 @y fe™ 7 cm 9, fere
¥3des »i3 fore ufgHy T wigurs
fdard?

(A)
(B)
(€)
(D)
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Q69 Rohan wants to store 120000 litres of Q69  JI& 120000 Tied 38 § ALI II&T

Q70

oil. So he bought a conical oil tank of
a diameter of 7 m and a height of 9
m to store oil. Find how many litres

of oil will be left after filling the
whole tank? [Use m = g]

(A)
(B)
€
(D)

4800 litres
4500 litres
4000 litres
3500 litres

Roy is attempting a question paper
where he gets 3 marks for every
correct answer and 1 mark is
deducted for every wrong answer.
After attempting 60 questions, Roy
sees that his total marks is 100. Find
the number of questions he answered
incorrectly.

(A) 25

(B) 15

(C) 20

(D) 30

Q70

g d| eA B GBI 38 A ACI 99
et 7 m fordm »=2 9 m <t Gordt @
HIQU 3T I ydieer J1 Yd <9
936 ¥ ¥miE fdd Ficd 3% ¥4
AAM? [n==E I3 d4)

4800 Std

4500 &ted

4000 Std

3500 &td

(A)
(B)
(©)
(D)

3¢ ffq Y- U33 € §3g v &t Jfim
39 fgar J, i €A § 99 Adt €39
Tl 3 id HEE I6 W3 I3 9183
€33 5t 1 vig Sfenm ATTI | 60 YIst
T €33 ¥< & 3fim 995 3 ImiE, 9
YT J i3 GAT 9% »id 100 96| §I&
yra & At u319d, g GA
GIEASECATEY

(A) 25

(B) 15

(C) 20

(D) 30
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Q71 The cost of 5 pens and 2 pencils is Q71 5 Ut w3 2 YsAST T U 229 I 3

%29 and the cost of 7 pens and 5 7 Ust w3 5 UsfASt @ ¥ 245 J1 1
pencils is ?_45. Find the cost of 1 pen ¥ w3 2 Vo fiTst w1 s uzT 34|
and 2 pencils. A) 29
(A) %9
® 27 (B) 7
©) z11 (C) 11
D) %13 (D) (13

Q72 Simplify the following using Q72 BODMAS fauH © €33 aafent I&i
BODMAS rule. 3§ IZ 4|

26—I—11—5X%0f12—{36 26+11—5x%0f12—{36+(14
+ (14 + 4)} + 4)}

(A) 5 (A) 5
B) 7 B) 7
€ 13 (C) 13
(D) 15 (D) 15

Q73 What is the value of 90 +55+ Q73 90+55+1.1x4—21 THS I
1.1 x4 —-217? (A) 296
(A) 296 (B) 269
(B) 269
(C) 216 (€) 216
©) 221 (D) 221

Q74 What is the value of the following Q74 Jatfd3 fenind @1 HE fdaT 9

expression? 1

4 5 4 1 3
(2+3yof 2t x12 2
3 9 17 3 4 4

4 5 4 1 3 1
(3t3)ofg+2y x1p - A 2
13
A = )
® -2 ® %
© 3
© 2 12
; D) =
o) = 12

31|32/BA



Q75

Q76

Q77

Find the least square number which
Is exactly divisible by 4, 9 and 15.
(A) 625

(B) 729

(C) 900

(D) 1089

A certain amount is distributed Q76

among X, Y and Z. X gets g and Y

gets % of the whole amount. If Z gets

%15, then Y gets:
(A) 320
(B) 75
(C) 3340
(D) 360

A rectangular parking area of 64 m? Q77

is adjacent to a house. The three sides
of this area are fenced and the fourth
side is common with the house. If the
length of the fenced sides is 24 m in
total, then the dimensions of the
parking area are:

(A) 4mx16m

(B) 2mx32m

(C) 1Imx62m

(D) 4mx15m

Q75 BJ &<l 3 &l T9d1 HitT U319, A

4,913 15 T &8 Yt 3g ST |
(A) 625

(B) 729

(C) 900

(D) 1089

i forfg3 9t § X, Y M3 2 ©
fegara A AT I X Qydt =
gﬁwﬁwﬁ»@Yég’ﬂaﬁwé
fom s 1 Agg z § 215 R Ta,
3Yg  HEE TS

(A) 2320

(B) 75

(C) 2340

(D) 2360

64 m2 ¥3de8 T g wifa3drg
Udfedr 434, ffq wd 7% ST J|
fore 35 umh =g ot ardt I w3 g
UTH WG &1 AT J| 7d <13 o131 aret
% BEd 24 m J 3t UIfelar 939 <
Urfer ot 92

(A) 4mx16m

(B) 2mx32m

(C) 1mx62m

(D) 4mx15m
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Q78  What is the value of

Q79

Q80

3.75 — % —0.05?

(A) 2
(B) 3
€ 4
(D) 5

Which of the following sets of Q79

fractions are in descending order?

(A)
® 1
(C)
(D)

The remainder when 2% is divided Q80

by 255 is:
(A) 2
(B) 0
€ -1

D) 1

045+ Q78

Z—o.45+3.75—§—0.05 T UG

Cikor
(A)
(B)
(©)
(D)

Js fefamt &9 fdat = fagzr mya

T 264 4 255 718 I fe3T AT, 3

1ol ot e dm?

(A)
(B)
(©)
(D)

2
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Q81 Iy feamuifed Jumae 9 -

Q82

Q83

(A)
(B)
(©)
(D)

J6 {58 @ feg uzaie < fami odf Q82

J:

(A)
(B)
(©)
(D)

NI& 3939 98« JI’ @ fegd Q83
fafann fenme T fam 3 -

(A)
(B)
(©)
(D)

fagarsT
fagara

HJTAT

HJJTAT

[AHed U3aie

At egq U3aie

(AT U3Rie

YASTHA UI&Te

RiTegd
UfgHreegq
YTdSrad

PUNJABI LANGUAGE
Q81 sy fequuifed Jumae 9 -

(A) fAgaa
(B) fHgarar
(C) HJ&T

(D) HIJAT

J6 188 o9 feg uzaie <t famd &dt
o

(A) f&Aed yzaie

(B) HitEH UIsie

(C) Tfordemd U3aie

(D) YASEHI UISTE

NI& 3631 98¢ JI° T g8
fafanm femme € fami 3

(A) At

(B) UfgHE<gd

(C) Yorderud

(D) fsdTrerga
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Q84 NIZIGATHTIAAIIIEITITNY| Q84 WIE JIrA<I HE d A faez T3 Il
g T famH 3 -

Q85

Q86

(A)
(B)
(©)
(D)

CuSaTAInS g S g€ Q85

AYd3 T
fHrfas @«

HIUdA <1

T3%TTd 9 d

famid.

(A)
(B)
(©)
(D)

AUIS
fimfas e

RYd3 T

S&%<Td T

'ﬁuera¥ﬂikfaéz

(A)
(B)
(©)
(D)

& 1 gt off fgudt & 2
& gdte ot faudt g
Sl adte faudt 1 €2
Sl fgudt &

T I faAH I -

(A)
(B)
(©)
(D)

RYd3 T
fHafas @«

HIOdA <1

T3%TTd 9 d

€I &1 & I W3 g I @ <
ﬁﬂ?%ﬁ:

(A)
(B)
(©)
(D)

AUIS
fimfas @

RYI3 T

S8%Td

'ﬁUEFHQﬁiﬁfaéz

(A)
(B)
(©)
(D)

& 1 gt off fgudt & 2
& gdte off faudt €
Sl gdte faudt 1 €
Sl fgudt &
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Q87

Q88

Gr= U3 33 viow fera vy &1 Q87

ESEECKREIGE

(A)

(B)

(©)

(D)

H I& AIrGI HITedT =If3wr Q88

< fan 98 € ¥& T UdeT Hd
SUETAE I GRS T &

fa31ae, G afde Io |

frafoRn T adJ<, B os G

A 9913 &l 8367 FrdteT|
Bc <3t 38 TU o ygdt A
93d 98 f6a® U<, € afde

5|
T8 HargwsT -3 et TUbuT T
&Td%, BE W i d YTa3
fies 7t A

Hed:

(A)
(B)
(©)
(D)

1 T 7913 23 ¥R IS
U3 JI&T

fopoires fer@
forfd3 J F A

(A)

(B)

(©)

(D)

A faRde e ys T Ude a3
Afgnt 72 3 A 3 PE &
fagrame, B¢ 9fde Is|

fHE faR ¥ 19 J<, BH &% BH

A 9913 &l 83&T FrdteT|
ac <3l 38 U o ygel Hf
93d 98T feas U, B¢ afde

I5|
ffd HaramT -3 et <t T
&1 J=, B8 Wl 1w & Yurs 3T
fies At

HeJ:

(A)
(B)
(©)
(D)

Hd Jdl Fd12 2d U3 AI&T
YIS II&T
fors fee@a

ferfd3 J A Her
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Q89 gIgHl feg ITH-ITH YT JIr g Q89 it feg ITIH-IIgH YT 9aIm BIiet

J1 <9 fed fegdt wee g J1 g fed fegdt wee 9
(A) (A) T
(B) U3%2 (B) U393
(C) #< (C) H=E
(D) WIE (D) HIe

Q90 FHYfEA T AHGIEL &1 J ; Q90 FHYUEA T AHGIEL & J ;

(A)  ferrgh (A) gt
(B) B3 (B) oH3
(C) Tdidl (C) Tddl

(D)  fepom (D) fepumrt

Q91 ‘Phonate’ AEE T UATEI migEedl Q91  ‘Phonate’ HE< o YA wigew J|

(A) ni<d (A) ™
(B) 25 IIA (B) 2&II&
(C) TalQuaga (C) TalGuaga
(D) 259 (D) @& dgd

37132/BA



Q92

Q93

‘The people of India are poor in
general’ T 1 YA »igee J|

9193 ¥ B femer Iidtg Ia |
33 T Bd WH JJd Jidig

(A)

(B)

Ja|
(C) I3 € & »H JJd Jidi™
I5|

(D) II3 T M I I I
‘Position of the people in the rural

sides of India is very pitiable’ <1 €7

Ut wigee J1

(A) 393 ¢ fegrdt fesifan feg
St T I%3 93 3IAWII J|

(B) 3933t izt few at <t T83
g3 IIAWT J|

(C) 3II3 < fogrst fewtiami € Bt
fed I%3 ¥g3 3IAWdI J|

(D) 993 ¥ ©d 338 A foy

Bt T B3 IIAUTT J|

Q92

Q93

‘The people of India are poor in
general’ 21 1 YTt nigee J|

(A) II3 T B feeT IIdE T6 |
33 T B M JJd I

(B)
I6|

333 © Bd WMH JJd dIdg

(©)

Jaol

(D) 393 T B »H JJa JIIE I
‘Position of the people in the rural

sides of India is very pitiable’ </ &7

Ut wigee J1

(A) Id3 ¢ foadt fesfani feg
St <t I3 93 3IAWAI I

(B) 39St st feg Bat & Im3
gJ3 AW J|

(C) 393 % foasl et © B
EERIERREESLIECIR]

(D) 993 ¥ ©¥d 338 Hua fog

St & T3 IIAUTT I
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Q94

Q95

‘Homosexual’ HE< €1 JaTdl wiga Q94
JI

(A) TfEIF3

(B) AH&EIF

(C) AHf&Jf

(D) EBc-fdat

“The police brought the dead body of Q95

slain leader.’” T 21 YATH nigae J|

(A) YSAEEIAIZT IABTHE
f@ni|

(B) UGABIIZILAI TN THE
f@ni|

(C) UfSH & 9138 &37 &l BH §
@t

(D) YMBH S I3% Jdd 33T €t BTH

& Tt

‘Homosexual” HEE &1 UrTdl »igae
JI

(A) TfEIEF3

(B) FH&EIF

(C) AHf&Jf

(D) T {84

“The police brought the dead body of

slain leader.” </ @1 YTt g J|

(A) YBABEAI A I I TmHS
f@ni|

(B) UBHAIIZIEAI A BHE
f@ni|

(C) Uf%H & 9138 &3 & & §
f&nrar|

(D) YfBH & 93% ddd 33T &t BTH

& T
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Passage (Q96 — Q100) HUITSI& 3793 feg Tf%3 &t AfF3t 3 HiafAa3T § Ho<<! fegrgurar
W3 d9H T3t T34 Y3 fearat & wisH-dte3T w3 7idal I@nt € wfgiam &8 39 fea
HH wifrdt Afg3t feg 7 9rg 9jg Afg <t 9t 98t6 <d9d1 © fegrgurdret ydui = Y3839
U 9d6 BE 3t GueH € gy feg Arand »iEd I »13 T8-998, o631 B §

WMIBH-ASHTS 1% fAgE T 99 fraget 31 Huarst 93« fett © wiggu et © fogt Guent

T AJATd ult 3 M-S et w3 ©f%3 23T a8 143 J€ Ia | for 3qf grauret T g us
YU JHPTIE-93&T © <A< 9 o §33w1 J| fon 3 frwe fig 9 3T 2 oHe »i3 Ane ©

fyze Hugn 99& <t Yda' < AarGwr J1 fod HdY H13g & gfen<l 893 »i3 A3 @

MIAT UI38 IS I3 J 8 I&iE »i3 TfS3, Irdtg w3 »ifig, fersdt »i3 ygr e fezaa

fie ATt 31 WA= fegrgurar wigrd for 21 feg ©f3 7 god & TH3d U3s B T o

Jd &t H

Q96 BUIF3 U3 T Ba<t fHady J| Q96 BuIF3 U3 T Ba<t fHady J|
(A) did dJj8 Ay feg IHMdE3 (A) did dj8 Afag feg I

EEfY EEfY
(B) W@ fAHaS T yge (B) g AHaS I Tryge
(C) JIg<l T ogH fHui3 (C) JIg<l T ogH fHUi3

(D) JIu<E! feg THG 3 AEE © (D) JIE< feg T8 3 AT ®©

HasY HasY
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Q97 qJgJfEmige<dtigdtfareryzl.839 Q97 Jid 9fg Arfae <t vt fam w1 y=1-839

UH gl i gt J?

(A) IEETIIT (A) IEE I

(B) W& ISt € o fATi3 = (B) W& ISt € g fATi3 =
(C) Husgly3aTfedtw (C) HuIEI Y34 fett =

(D) TB3TIET (D) wfE3JWaTE

Q98 wWh <t fegrgurar y3fed #WH3d Q98 W «ft fewdguar W3t WH3J

fefen IS 996 T I far § &dt fefen IS 996 = I fan § &dt

HIo Hio

(A) FaHetg (A) FaHetg
(B) wH3IM G (B) wH3IM G
(C) TEIQ (C) TS
(D) <HE (D) <A@
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Q99

Q100

T3 2 ATt T AU J| Q99

n

(A) IBIEBFEH

(B) WM B A%

(C) dBEBII S

(D) fermEyduas

JggS feg Iea3 Bt Bt o Q100

ITHET i3t aret 92

(A) MUS IIH TS YigE &t

(B) dJlfgrst Hies fagE <t

(C) US-YA Jd& it

(D) MBH-HSHS B3T3 fHET &t

T3 T AJII T ALY J|

n

(A) I8IE BT EH

(B) M BT A%

(C) dBEBII S

(D) ferm e yduas

g feg IuaE B9t B o

ITHET 3t aret 92

(A)  MUS JIH T EH YR

(B) dJlfgHst Hies fagE <t

(C) UBYH Jd& it

(D) MEH-AGHS &8 fagE <
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Read the following instructions carefully:

J6 TId IefEsi § fons 578 u3:

1.

10.

11.

12

Out of the four answer options given for each question,
Candidate has to darken only one option as answer on
the OMR Answer Sheet. The answer once marked cannot
be changed.

The candidate should ensure that the OMR Answer Sheet
is not folded. The candidate should not make any stray
marks on the OMR Answer Sheet. The candidate must
not write the Roll No. at any other place except the
specified space in the OMR Answer Sheet.

The candidate needs to write correct and same Test
Booklet No. & Test Booklet Series in Attendance Sheet as
those printed on the Test Booklet.

Candidate needs to show his / her Admit Card whenever

it is demanded by the Invigilator.

Candidate is not allowed to leave the seat/ Test Center
without taking special permission from Invigilator or
Center Superintendent.

The candidate is not allowed to leave the Test Hall/Room
without signing on Attendance Sheet & handing over
OMR Answer Sheet to the Invigilator.

Use of Pencil/Electronic/Manual Calculator is prohibited.
The candidates are governed by all Rules and
Regulations of the Recruitment Board with regard to
their conduct in the Examination Hall. All cases of unfair
means will be dealt with as per Rules and Regulations of
the Recruitment Board.

Candidate must return the original and department copy
of the OMR Answer Sheet to the invigilator once after the
Examination is completed. Candidate can only leave the
Examination Centre after receiving the Candidate OMR
copy from Invigilator.

The Candidates are required to submit the Test Booklet
to the Invigilator after the exam.

Question Paper will be available on Recruitment Portal
for future references within 24 hours after last shift of

examination is completed.

Candidate shall not be allowed to leave the Exam

Hall/room before the shift ends.

1.

10.

11.

12.

JI YIS B fie3 I 91d B34 feasui fieg, iftmraet §
OMR €33 U3dt 3 €39 © 39 3 fige fFa feamu § g7
FI& I J1 g @19 Wi olt3 €33 § gefen adt 7
AT

SHieegl § feg wellal ga@a grdier J fa €33 Hie vt
& 2| Bieerg § €39 Hie 3 feug-Qug adt & fomrs
&t BargE grdter| Grieerg § €aiarg €33 Hie e
foguas Aq 3 fewrer 99 fa3 & mue 3% 893 &t
Sy grdter|

SHfeeg § Tt Hie 5 Adt w2 R 2Ae Yade 99
3 AT Yade Fidi foud Je4d! 7 He Yase 38U J
I

f&araTs Tt Hdl e 3 BHleeg § Wi TS 9193
fouGa J<am

fadaTs 7t ded T I3 3 femm wifamn w2 fast adt &
Srieea S Hie it dTg 5 83 Aawy/Aaw! |

Yiftprgdt § Traidt Hie 13 TH3Y3 o3 fagi »3 oMR §39
U3dt fadias & AU fagt 2re I8/aHaT 83 < wifdm
ERik]

Uaiis/feSadisa/MeMs dsaded & <93 d9ds
HET I

it 7% {38 BIaT © nrgde © Hey fieg Srteerg varg
YfgH 3331 993 © A fowt »i3 fefawmt »ifts It
W3 Bl T A HAHIEHT § 3331 893 © fomdt w3
fefsTHi wigHTg faueam 7|

Uit ydt I 3 gmie, iftmirgelt § faaas § oMR §39
U3dt & »Ag w3 fegrat it Tun gdat It Ji

iftrrad, faarars 3 iftmradt oMR anft yu3 935 3
goe d Uit d 83 AdeT |

ittt 3 gmie Srieerdl § it ere ga8< fodids 38
G UCCEUSEIIRESif

Wyt Uit fiige ® HelHs I 3 24 ifentt € nfeg-nieg
333t Udes §3 sl gefent Tt yas U39 Gussu
Jedn|

fige w3H I 3 ufast iftmraet & iftmm gs/eHar
&3< © form3 adi fiodt At
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